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Slope-Intercept Form of alLine (54-55)

y=mx+b

m is the slope and b is the y-coordinate of the y-intercept

Standard Form of a Line
Ax+By=C

A, B, and C are Integers

Write each equation in Standard Form.
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Write each equation in Standard Form.

Ex 3: Ex 4: The line passes through

2 1 (10, 6) and (6, 1).
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Gra-ph the two lines on the same coordinate plane.

eq2 3I+2y =8
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How do you write equations using parallel and |
- perpendicular lines? ]
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Parallel lines have the same slope.

Perpendicular lines have opposite reciprocal
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' Ex1: Write the equation of the line that goes through
(18,4) and is parallel to the line 3y=x-12.
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Ex2: Weritean equation of a line that goes through
(8.-1) and is perpendicular to the line 4y+2x=12.
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